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5.3D

Solve the equation.

17) 25n*2x = |

17,19, 35,37, 39

N

J3in¢2x =
[sin2x|= v
Sinax=*vs

periad=g§'= r=m

¢ We can combine these as follows:
e

F{l R b
1 (223 .5‘-}2”7)2 4 (20=(F +omn)

X=Z +mn = 37 +7n

T

pe i, 3 (2x)=(3F +27n) % 1 @X=(2F +270) +
) ] X= 2F +7h X= 27 +7n
14) 1an3x( 1an X-1) =0
Tan3x =o tan x-1 =0 ot
% Tanx =1
e@ i1,
I
3X=04Mn |X=0 + 12
3 33 x= F+7n X= SIr +n
3X=Tr+71 :(='3tl'+ 3
3 3
period =IE =T
pcrld :E= g‘ tank=0 o tamx-1=0
h=nm tany=|
x=n; .==:+mr
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Solve the multiple-angle equation.

35) (os2x= 3 ﬂ%

E
\ h @

i(él)()=g'f 27n) 4 + (,9}):(%'4‘)770_) 1
)(':Jf 1 Tn X = ggr-min

pcri&’ﬂ:"ﬂ'

37) tan 3 x =

i 17*}

L(3XAF ¥ s L (X +mn)d
X< -E:-i- %ﬂ X< % -+ %a

m) s £= ZF L5

L b

2 ({)-(-g'-r.mn ) 2 2 ()28 +274) 2

x= 4 +4nn x= ZF + 47a
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